Intermediate 2


UNIT 2

PRACTICE ASSESSMENT 2
Outcome 1

1. [image: image1.wmf]a)  Calculate the area of the triangle shown in the diagram opposite.
[image: image2.wmf]
b)  Calculate the length of AB. Do not use a scale drawing.

[image: image3.wmf]


Do not use a scale drawing.
[image: image4.wmf]


2. A triangular playground is shown in the diagram 

      opposite with measurements as shown.

      Two students are standing at corners B and C.

      What is the distance between them? 

      Do not use a scale drawing.

Outcome 2

3. The diagram below shows the line x - 2y = 6.
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a)  Copy the diagram and draw the line x + y = 0.

b)  Use the graph to solve the system of equations:       x - 2y = 6






                                   x + y = 0

4. Solve, algebraically, the system of equations:      3x + y = 10
   x – 2y = 1

Outcome 3

5. The depth of snow is recorded each week at a ski resort. These are the depths, in centimetres:

16     20     28     40     64     80     74     60     45     31     

      a)  Find the maximum, minimum, median and quartiles of the data set.  

      b)  Draw a box plot to illustrate the data.
6. Leisure centre records show that of the last 200 people to attend the centre:
70 came for the keep-fit activities

30 came for the swimming

80 came for court games

20 came for dance lessons

Draw a pie chart to show the use made of the leisure centre.

Outcome 4

7. A taxi driver records the distances, in miles, of his fares one morning:
3       8       4       2       4       5       2       4  

Calculate the sample standard deviation, correct to 1 decimal place. 

Do not read the standard deviation directly from your calculator.

8. Lynda reads that fashion designers use a link between height (H) and length of head (L).

She collects her own data and enters this in a table.
	L (cm)
	 20
	20.2
	20.5
	22
	22.4
	22.5

	H (cm)
	158
	157
	162
	175
	172
	177


      a)  Plot a scatter graph.  

      b)  Draw your estimate of the line of best fit on the graph.

      c)  State the equation of your line of best fit.

	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	



      d)  Use the equation to estimate the height of a person whose head is 21 cm long.

9. A day for a meeting is selected at random from September.
	SEPTEMBER

	SUN
	MON
	TUE
	WED
	THUR
	FRI
	SAT

	
	
	1
	2
	3
	4
	5

	6
	7
	8
	9
	10
	11
	12

	13
	14
	15
	16
	17
	18
	19

	20
	21
	22
	23
	24
	25
	26

	27
	28
	29
	30
	
	
	


What is the probability that the day selected is before the 9th?
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